Retrieval questions
	The cost of car insurance has decreased by 4% over the last year. 
A policy this year costs £268.80.  Find the cost last year.

	




	x = 3.8 (1 dp).  Find the error interval of x.











	The number of passengers on a bus on Monday was 34.  The number of passengers on the same bus on Tuesday was 47.  Find the percentage increase, round you answer to 1dp.










	A family convert £550 into Dollars.  The exchange rate is 	
£1 = 1.23 dollars.  Whilst on holiday the family spend 340 dollars.  	
When they return the exchange rate has changed to £1 = 1.28 dollars.  
They exchange all the money they have left back into 	pounds.  How many pounds will they have?
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